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Week 4: April 6-10, 2020

Directions:

Monday Tuesday Wednesday | Thursday Friday
EL A Lesson 1.6 Lesson 1.7 Lesson 1.8 Lesson 1.9 Lesson 1.10
M a.'.h Lesson 1 Lesson 2 Lesson 3 Lesson 4 Lesson 5
_ Meaning of Meaning of Multiplication | Multiplication | Multiplication
Unit1 | Multiplication | Division and Division | and Division | Properties
Understandin Facts Number Review
g Sentences Understandin
Multiplication g
and Division Multiplication
and Division
S : A Frogs Life A frogs Life Mother Cats Mother Cats SunFlowers
cience Question #1-5 | Question #6-10 | and Their and Their Question #1-10
Kittens Kittens
Question #1-5 | Question #6-10
S : l “Looking back” | "What Came "Going to "This Land is "This Land is
ocia Answer First" Washington” your land" your land”
S d . Questions Answer Word search Answer Answer
TU 1es Questions Question set Question set

#1

#2







anding Multjp

derst oli
g and Divisjop “Qtiop

@ Lesson 1 Meaning of Multiplication reviews
the meaning of multiplication and how to represent
multiplication.

@ Lesson 2 Meaning of Division reviews the meaning
of division and how to represent division.

@ Lesson 3 Multiplication and Division Facts
reviews the basic multiplication and division facts to 100.

@ Lesson 4 Multiplication and Division Number
Sentences reviews the relationship between
multiplication and division.

@ Lesson 5 Multiplication Properties reviews how
to apply the commutative, associative, and distributive
properties.
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UNIT 1
Understanding Mulfiplication and Division
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Read each problem, Circle the letter of the best answer.

SAMPLE which number sentence shows the array below?

000000
000000
00000
00000

A 4+6=24 C 5x6=24
B 4x6=24 D 6xXx6=24

The correct answer is B. The array shows 4 rows with 6 dots in
eachrow:6+6 + 6+ 6=24and 4 x 6 = 24,

1 Which multiplication sentence shows this 4 Which multiplication sentence shows this
-addition sentence? addition sentence?
54+5+5+5=20 7+7+74+7+7+7+7+7=56
A 5xXx5=20 C 4X5=20 A 8X7=56 C 7X7=56
B 6X5=20 D 3X5=20 B 6X7=056 D 9X7=56
2 Huy built 3 chicken pens. He put 5 Which number sentence shows the array
10 chickens in each pen. Which number _ below?
sentence shows the total number of [
chickens? _ OOoEoE
EEEE
A 3x3=9 C 3xX10=30 _ DEEE
B 2x5=10 D 10X 10 = 100 EEEE
A 3X4=12 C 4x5=20
3 Which array models 3 x 2 = 67
' B 4Xx4=16 D 2x8=16
88 8888
6 One spider has 8 legs. Which multiplication
B D ! sentence shows the total number of legs
% m % m m _ for 3 spiders? ?
O 0@ |
o _ A 1x8=8 C 8x8=64
B 3x3=9 D 3x8=2

UNIT1 (@
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Read the problem. Write your answer to each part. Read each problem. Circle the fetter of the best answer.

10 Emilio and Kara are setting up chairs in their classroom to make an array. SAMPLE Masego has 18 fish and 6 tanks. He puts the same number of fish in each
tank. Which number sentence shows the number of fish in each tank?
Part A Emilio sets up 3 rows of chairs with 4 chairs in each row. %
Kara sets up 4 rows of chairs with 3 chairs in each row. A The first factor A 18+6=3 ¢ 1B8-6=1
In the space below, draw an array to show how Emilio tells the number of B 18 %6 =108 D 6+6=1

rows. The second

sets up the chairs. Then draw an array to show how Kara e T [e

sets up the chairs. Write the multiplication sentence for : ;
each %@. M_mnﬂ<qum& Qe The correct answer is A. There are 18 fish in all. They need 1o be
- divided equally into 6 tanks. The number sentence 18 + 6 = 3 shows
the number of fish in each tank.
1 Beth used the repeated subtraction below 4 Gia buys 20 plants. She wants to put
to find a quotient. 4 plants together in a pot. Which number
24 -6 =18 sentence shows the number of pots that
18—6=12 Gia needs?
12-6=6 A 20+4=24 C 20-4=16
6-6=0
Emilio Kara ion problem did Beth do? B 20+4=5 D 5xX4=20
Part B Compare the arrays and multiplication sentences you wrote for =4 C 18+3=6 5 A group of 42 students is riding in vans.
part A. What do you notice about the factors and the product? =1 D 24+-4=6 Each van can hold 7 students. Which
Explain. number sentence shows how many vans
2 Kayla has 10 sweaters in 2 boxes. Which are needed for all the students?
number sentence shows how many A 42-7=35 C 42+6=7
sweaters are in each box?
B 42+7=6 D 42 +7 =49
A 10-2=8 C 10+5=2
B 2x5=10 D 10+2=5 6 Which array models the number sentence
15 +3 =57
3 Which number sentence best represents =
A C (@
the picture below? _
L oo
b AY . o
B @ D
A 3x1=3 C 9+3=3 b S
®
B 3+3=1 D 9-3=6 L] ®

unT1 (@ 13 )
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Read the problem. Write your answer to each part. Read each problem. Circle the letter of the best answer.

10 Leo and his father are building a birdhouse for their Umn_Qw_d. SAMPLE 4 x 8 =[]
Part A Leoc and his father buy a wooden rod that is 54 inches long. m m Use repeated A 2 B 4 c 12 D 32
They need to make 10 shorter rods. Each rod must be subtraction to find
6 ,:n.:mm long. Umu they have m:Ocm: <<n.x_ﬂ 15 skce i ﬂ,wmzwzmﬂmm” M_mﬂ,m be The correct answer is D. The product of 4 and 8 is 32. You can use
10 pieces? Explain your answer using division. subtracted from 547 repeated addition to check your answer: 4 + 4 + 4+ 44+ 4 + 4 +
_ 54 inches | 44 4=32
_ |
( 0
TI_ 1 Complete the fact. | 6 DivideO + 2.
6 inches 42 +6=[] | A0 c 2
A 7 C 36 B 1 D 4
B 12 D 48 .
7 Which of these facts has the same product
?
o 2 What is the product of 9 and 5? 353 % 47
Part B Leo says that he and his father should have bought a A 4 c 30 A 5x2 € 2X6
60-inch rod to get 10 pieces that are 6 inches long. Is B 8x3 D 6x6
he correct? Explain. B 14 D 45
8 What basic multiplication fact can help you
|
3 mr | divide 18 + 37
——— |
AT c | A 2X3=6 C 6xX2=12
o B 3 D 28 B 3X3=9 D 6x3=18
iply: s
4 Multply x_m 9 Complete this division fact.
A0 c s 16+2=[]
B 1 D 10 A 8 C 14
B 9 D 32
5 Find the product.
5x5=[
A 1 C 10
B 5 D 25

e oo L L M LR B cz:. 1

Understanding Multiplicafion and Division

Understanding Multiplication and Division
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Read the problem. Write your answer to each part.

16 There are special relationships between multiplication and division.

Part A Explain how knowing 7 X 8 = 56 can help you find the
guotient of 56 + 8.

Part B Travis multiplied 8 X 0 and got o Melia multiplied 8 x 0 % What rule helps
and got 8. Who is correct? Explain.” you multiply a
number by 07

UNIT 1

Understanding Multiplication and Division
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Read each problem. Circle the letter of the best answer.

SAMPLE What number goes in the box to make this number sentence true?

27+-0=9
A 3 co9
B 6 D 18

The correct answer is A. Think of the number sentence as
9 x [ = 27. Use your knowledge of multiplication facts to find
the missing factor: 9 x 3 = 27.50,27 + 3 =9,

1 What is the missing number? | 5 What number is missing in this number
4x[0=0 sentence?
A 4 c 1 2x[)=1
B 2 D 0 [ A 4 C 10
B 7 D 12

2 Which multiplication sentence can help you
find 12 + 3? 6 Which number makes both number

= ?
A 6xO=12 C 3x[=15 sentences true?

x [ = +5=
B 3x0O=1 b 2xO=12 > 30 30+5=0

A 2 c 7
3 Find the missing number. B 6 D 10
80+[=38
A 2 c 3 7 What :c.acmq sentence is missing from this
fact family?
B 4 D 10 4X8=32
8X4=32
4 Which fact is in the fact family for 2, 5, 32+4=8
and 107 ——
A 50+5=10 C 5xX2=10 | A 32-8=2 C 2+8=4
B 10X5=50 D 10x2=20 _

B 4+8=12 D 32+2=16

Understanding Mulfiplication and Division -
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Read the problem. Write your answer to each part.

13 An array can model a multiplication sentence as well as a division
sentence.

Part A Draw an array for 5 X 9 = 45. Write the rest of the fact

family with one multiplication sentence and two division
sentences.

Answer

ion

Part B In a fact family, what happens to the quotient in a d
fact when it is written as a multiplication fact?

m. m Look at the

facts you wrote

for part A. How
are the numbers
rearranged?

Understanding Multiplication and Division
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Read each problem. Circle the letter of the best answer,

SAMPLE What number goes in the box to make this number sentence true?
6X9=9x[]

A 2 B 3

C © D 9

The correct answer is C. The commutative property says you can
multiply factors in any order and the product is the same: 6 x 9 =

54and 9 x 6 = 54,

1 What is the product?

4xX6X%X2=[]
A 8 C 24
B 12 D 48

2 Which expression can you use to find
16 X 67

A B8XB)+2x%x6)
B B3+6)+(7x6)
C (9X6)+(7x6)
D (4xX6)+(4x6)

3 Find the product.

8x0x8=
A O C 16
B 8 D 64

4 If 15 X 6 = 90, then what is the product
of 6 X 15?7

A 21 cC 75
B 30 D 90

Use the distributive property to multiply
12 X 5.

A 17 C 55
B 42 D 60

What number goes in the box to make this
number sentence true?

4X5=2x%x5x[]
A 2 c 7
B 6 D 10

Which is the same as 3 x 97
A 2XxX10 C 9xX1X%X2
B 9xX3 D 10x3

What number is missing in the number
sentence below?

4X@7Xx3)=(Ox7Nx3
A 3 c 7
B 4 D 21

© The Continental Press, Inc.  DUPLICATING THIS MATERIAL IS ILLEGAL.
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Read the problem. Write your answer to each part.

12 Nina and Alejandro are working on math problems to review the
properties of multiplication.

m m Look at the

factors. Are they
the same or
different?

Part A Nina writes the multiplication sentence 2 X 6 = 12.
Alejandro writes the multiplication sentence 3 X 4 = 12,
Alejandro says the products are the same because of the
commutative property of multiplication. Is he correct?
Explain.

Part B Nina says that the product of 5 X 4 X 3 is greater than the
preduct of 3 X 4 X 5. Is she correct? Explain.

UNIT 1
Understanding Multiplication and Division
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Read each problem. Write your answer.

9 Use repeated subtraction to show how many groups of 7 are in 21.
Then write a division sentence.

Answer

10 Write 5+5+5+5+5+5=30asa multiplication sentence.
Explain why you can do this.

11 What number completes both number sentences?
72+-=38 8x[=72

Answer
12 Divide 56 by 7.
Answer
13 Wwrite all the facts for the fact family with 3, 8, and 24.

Answer

14 What is the product of 0 and 5? Explain how you know.

UNIT1 @8
Understanding Mulfiplication and Division f(\¥
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ReadWorks' Mother Cats and Their Kittens - Comprehension Questions ReadWorks' Mother Cats and Their Kitiens - Comprehension Questiors

6. Read the following sentences from the passage: "When kittens play, they are
practicing many skills they will need later on, like jumping, pouncing, and biting. This will Name; Dt
help them catch prey for food and fight against predators.” 1. What do mother cats do to their kittens?

. A. Mother cats make their kittens good pets for humans.
In this passage, what does the word "prey” mean? goocP :

B. Mother cats protect their kittens.
A. animals that cats can catch and eat

B. other kittens that they can play with
C. bigger animals that are dangerous for cats to be around

D. a human-prepared meal 2. This passage explains the sequence of things mother cats do to raise their kittens.
Which of the following does a mother cat do first?

C. Mother cats abandon their kittens when they are born.
D. Mother cats put their kittens in danger.

7. Choose the answer that best completes the sentence below. A. She chooses a safe place to give birth to her kittens.

A group of kittens playing with each other might appear to just be having fun, , B. She gives birth to her kittens.

they are also developing skills that they will need as adults. C. She nurses the kittens with her milk.
A. obviously D. She moves the kittens to another location away from predators.
B. instead

3. Kittens need to receive a lot of help from their mothers when they are bom. What

C. however evidence from the text supports this conclusion?

D. for example A. Kittens spend a lot of time playing and fighting with each other.

8. A mother cat does a number of different things to protect her kittens. B. A mother cat will carry her kittens to their new home in her mouth.
C. Kittens will sometimes bite or scratch to protect themselves against harm.

Which evidence from the text supports this conclusion? D. Sometimes cats will give birth inside human homes.

4. Why are the games that kittens play together important?

A. They help kittens get to know each other.
B. They are fun and keep the kittens from getting bored.

C. They help develop skills that they will need later on.
D. They entertain the kittens' mother.

5. What is this passage mostly about?

A. how a mother cat raises her kittens

B. the way that cats leam to fight

C. how to adopt a kitten as a pet

D. the way that animals survive in the wild

org - ©2020 R . Inc. All rights I . org - ©2020 . Inc. All ights



ReadWm'kS' Mother Cats and Their Kittens - Comprehension Questions

9. Describe the reason why a mother cat would move her young from one safe place to
another.

10. Explain why it is important to be careful around a mother cat and her kittens. Use
evidence from the text to support your answer.

org - © 2020 , Inc. All rights reserved.
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ReadWorks' AFrogsLite
Atiny Fn—!o grows inside each egg. A few weeks later, the tadpole hatches. A tadpole lives
Inwater: It breathes-using gllls; it:uses its long tail to swim and moves like a fish. Tadpoles
‘eat tiny water plants called algae (AL-jee). - -

(3) Froglet.

During the next few iF,Fo,EQBE grows iegs and toes. The tadpole's gills grow smaller,
and the iadpole starts:to grow lungs. It swims to the top of the water to breathe air. The
tadpolestarts to look more like a fro. It Is called a froglet.

(4) Frog

The froglet's tail gots smaller and soon disappears. Now the frog Is an adult. it leaves the
water and lives mostiy on land. It breathes using lungs. It eats insects, worms, and snails.
Mother frogs retum to the water to lay eggs. Then the life cycle begins again.

From-Egg to Frog

Watch a frog grow.

Wiiat would your-life be like as a frog? You would have to know how to swim and hop. Frogs
‘are amphiblans (am-Fl-bee-uhnz). Amphiblans spend part of their lives In water and part on
1and. Most hava smooth, wet skin. Most amphiblans hatch from eggs.

Leam about the Iife cycle of a frog. A life cycle shows the stages in an animal's life.

(1) Egg

_saa frogs come from tiny eggs. A mother frog lays eggs in or near water. Afrog canlay
thousands of eggs at once. The eggs are in large clumps. A Jelly coating makes the eggs
slippery. That protects them from being eaten by other ms_an_m. i

{2) Tadpole







gc—.—mm. A Frog's Life - Comprehension Questions
4. Read these sentences from the text.

"A mother frog lays eggs in or near water.

"A tadpole lives in water.
"[An] adult [frog] leaves the water and lives mostly on land.”

Based on this information, what can you conclude about where a frog lives during
different stages of its life cycle?

A. At the beginning stages of its life cycle, a frog lives mostly on land. Towards the final
stages of its life cycle, a frog lives in water.
B. Throughout all stages of its life cycle, a frog lives in water.

C. At the beginning stages of its life cycle, a frog lives in water. Towards the final mﬁmmm
of its life cycle, a frog lives mostly on land.

D. Throughout all stages of its life cycle, a frog lives mostly on land.

5. What is the main idea of this passage?

A. A life cycle of a frog has four main stages.

B. Tadpoles use their long tails to swim and move like fish.

C. Ajelly coating protects frog eggs from being eaten by other animals.
D. Amphibians spend part of their lives in water and part on land.

6. Read these sentences from the text.

“A jelly coating makes the eggs slippery. That protects them from being eaten by other
animals.”

What does the word "protects” mean here?

A. makes them easy to find

B. makes them hard to find

C. puts in danger or harm's way

D. keeps safe from danger or :m_i_

ReadWorks.org - © 2020 ReadWorks®; Inc. All rights reserved.

ReadWorks’ A Frog's Life - Comprehension Questions

Name: Date:

1. According to the text, what does a life cycle show?

A. the eggs that amphibians hatch

B. the tadpole that grows inside each egg
C. the stages in an animal's life

D. the tiny egg that most frogs come from

2. The text lists and describes the stages of the life cycle of a frog. Which of the
following shows these stages in the correct order?

A. egg, tadpole, frog, froglet
B. egg, tadpole, froglet, frog
C. egg, froglet, tadpole, frog
D. egg, froglet, frog, tadpole

3. Frogs eat different kinds of food during different stages of their life cycles.

What evidence from the text supports this conclusion?

A. Tadpoles hatch from eggs. Adult frogs grow from froglets.

B. Tadpoles live in water. Adult frogs live mostly on land.

C. Tadpoles breathes using gills. Adult frogs breathe using lungs.

D. Tadpoles eat tiny water plants called algae. Adult frogs eat insects, worms, and snails.

ReadWaorks.org - © 2020 ReadWorke®, Inc. All __ns?tgzmn..
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ReadWorks’

10. Explain how an egg becomes a frog.

A Frog's Life - Comprehension Questions

W%OHWO. A Frog's Life - Comprehension Questions

7. Choose the answer that best completes the sentence.
Support your answer with evidence from the text. Most frogs come from tiny eggs. A tiny tadpole grows inside each egg.
the tadpole hatches.

A: Meanwhile
B. Then

C. Before

D. Instead

8. Where do most frogs come from?

Support your answer with evidence from the text.

9. Explain how a tadpole becomes a froglet.

Support your answer with evidence from the text.

RaeadWorks.org - ® 2020 ReadWorks®, Inc. All rights reserved.
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hidden words about Congress in the puzzle. The words:

Branch of our federal government. Circle the twelve
go across and down.

The Congress of the United States is the Legislative

Going to Washington

White House
president

capitol term

legislative

Senate

Congress

federal

law

representative

state

government
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